Question Booklet Series: A Question Booklet Serial No.: 210046
Ph.D. Entrance Test : 2021

Subject: Hindi

Paper - |
Important: Please consult your Admit Card/Roll No. slip before filling your Roll
Number on the Test Booklet and Answer Sheet.

Roll No. (In Figure) (In Words)

O.M.R. Answer Sheet Serial No.

Signature of Candidate: Signature of Invigilator:

Time: 60 Minutes Number of Questions: 50 Maximum Marks: 50
DO NOT OPEN THE SEAL ON THE BOOKLET UNTIL ASKED TO DO SO.

INSTRUCTIONS:

1. Write your Roll No. on the Questions Booklet and also on the OMR Answer Sheet in the space provided and
nowhere else.

2. Enter the Question Booklet Serial No. on the OMR Answer Sheet, Darken the corresponding bubbles with Black

Ball Point/Black Gel Pen.

Do not make any identification mark on the Answer Sheet or Question Booklet.

4. Please check that this Question Booklet contains 50 Questions. In case of any discrepancy, inform the Assistant
Superintendent within 10 minutes of the start of Test.

5. Each question has four alternative answer (A,B,C,D) of which only one is correct. For each question, darken only
one bubble (A or B or C or D), whichever you think is the correct answer, on the Answer Sheet with Black Ball
Point/Black Gel Pen. There shall be no negative marking for wrong answers.
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(Sanskrit)
1. T 9= Arg-F1 (Researcher)-geg#f 7 THerwafa-

(A)sT=aas: - (B) TrHTeq=:
(C) srgE=aTar (D) TEw:
2. Abbreviation TaeRd FeFadTawAEY 37 gr=aT sqEfRaa-
(A)EeFaTerTa=T (B) FraforsT
-~ (C) srgeraTt (D) Frtere=T
3. wepaaaT e RiAETE AR gerarreE ada-
(AYE. TTIET (B) w. #ft. Firo:
(C) Ffafewfimias: (D) fFRraaeyemrstt
4. wfagE FeTeTaT S99, T555q-
(A)arafeeaufy (B) Fegsifag<ior=r
(C) |rega==fs=r (D) SAgFHTITET
5. sy aforest wafa-
(A)=afrAearT (B) a=gf=sar
(C) SugraT e ey (D) Tifpafargar
6. STTTRTd U TqFH-
(A) TEegaT (B) sr=rTeHsHaT
(C) TATHFAT (D) "reaTRETdaT

7. THTAE A =T G0t (Critical Edition) % SeTfaray-
(A) ARFvET- I =< E: (B) FrArsmTaTE-gAT:
(C) uferafeFaarady-Frererara: (D) m.gﬁ'gm;

8. TAHTHHFIAE T AT AT TRarTa-
(A) TFTFATI=aT: (B) "f=raamHaT: yHTivEwaT
(FEENREEILPERCIE (D) FzTae



10.

11

12.

13.

14.

15.

SHHEITTAL AT ATEHFEGT GAT Sad Tehd dTav it asay a94-
(A) gi=raT (B) S Tor=RT
(C) gffare: (D) eTrereeriareT

HATTS ATSIAT ST AT FEATIAET FaFata, GreraTarat T Foaa-

(A) TET: (B) ursgfa:

(C) wimds (D) gfrfRefw:

BE SN AT e TS E Y SrTE = -

(A) ITETATHTH (B) wefteT

(C) HTefaa=y (D) TaETy:
segrataet ey =@ iE-

(A) TR (B) fEwg=g=sr

(C) RdersfgfraT (D) Hifaaaferem=e
(A) STUAT-FTersT, STAEY G REIEIECIECIED]
(C) Fruht-Flerer, Fvshre (D) srgaa|y

. - —

(A) TTEATRTL: (B) TH=IERIT:

(C) sTafTHTII (D) SeFTE T
‘T 7 foremeEee uaq st ag e frer-

(A) Tanme manahshivasankalpmastu
(B) Tanme manahsivasankalpamastu
(C) Tanmei manahsivasankalpamastu

(D) Taname manashivasankalpmasti
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16.

1T

18.

19.

20.

21.

22.

FEANTH FETH- 2 Ruiomg F: @ waw g2 Faam-

(A) Faaret~ sithes (B) U. €Y. Fewe:
(C) o, FogeaTHt (D) &Y. TreE
FAFAET q¥=T -

(A) aradTEFaaT (B) SUEETC
(C) 1T F2r (D) TTETEAEAT

oI AaT Areior |t A9T TRt W we

(A) T Taeaet (B) wETaHRFAgHT

(C) FeTerT=rgt (D)= - -t
Tt Taia-

(A) FdsRHT (B) 9iTersrd SARTsHHT
(C) AT (D) STHTIHFTTHIT
USTTe AT FATUG T FATIele8T: Hhforar a1 diea-

(A) Breamege (B) rmrat

(C) Srrereart (D) ATHTATH

HT AT AT

(A) FAATHTTTH, FATHATHHHT, Fraarrewrsaq i, wrddifas
(B) Frdgarsay T, TR AT, FrETaw, A
(C) FTHEIFT, FaTTa=as, FraQT RIS AT, Fraa T
(D) F ST, FragTa=ay, FrATATA AT, TR AT

T qreaT e ETET s

(A) arZ=T (B) @ISt

(C) sy (D) AT FETiR
(3)



23.

24.

25.

26.

27,

28.

29.

30.

STTETTE AEATATAT G Foqa-
(A) 7T =T
(C) grafay

STTETFTIET S8 ada-
(A) FTHTEET:

(C) STt gereaT

(A) Rsim namami

(C) Rishim namami

AT AT Tfee-
(A) FrTermer

(C) 9T 9rsg ey

A it AT s -
(A) s
€)%

s aefifers ada-
(A) ST, wawfE
(C) s7a:, udry

AT SHETHT WaTd-
(A) 371
(C) &=lR=:

(4)

(B) Rshim namami

(D) Rusir namami

(B) F=TVaeTTEN
(D) Srargsfs

(B) T
(D) =&



31.

32.

33.

34.

35.

36.

37.

38.

ITCHA R TFAE T AR [5ThTsea-

(A) faefrar
(C) =g

(B) geft:
(D) ws:

‘gwf gad mered fauT g 7 e = arrd 13-

(A) FTE=t
(C) drar

(A) r=TH:
(C) g=rar:

AfEFerrataEET a=-
(A) &

(C) fEmr

(A) ﬁﬁm
(C) aeagmaAd=ay

REEIGIR CIERETIRG
(A) 7=

(C) arx:

(A) =EoT:
(C) 73

FHEEqEdl: TR AFia-
(A) |ZT:

(C) HymaHaaH9aTd:
(5)

(B) TmH:
(D) Steh:

(B) sAreAT
(D) srfr:

(B) =
(D) ﬁ'ﬁﬁﬁ‘f

(B) ASITIEIH
(D) sTafATfe

(B) =rfar:
(D)z=:

(B) 5=

(D) faw:

(B) FAersafasraorsT:
(D) THITHHFTE:
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40.

41.

42.

43.

44.

45.

46.

EEE I I DR T

(A) =g (B) aefea
(C) e (D) 9%
ATEATIAHT T d-

(A) Ber=fas (B) TaTEAT
(C) TavaTeaeTyq (D) Frargay
FrEFETET F94-

(A) TETEHE (B) aofiezm
(C) Foarhfes (D) SeTTE R
‘Tramar: wiudsft weerfe: 9T aeTa-

(A) &7 (B) H=efar
(C)farsrar (D) goTw:
TSRS ora=ae srae a9 Ta47 f2-

(A) gTHEE: (B) FH7e:
(C) arge=: (D)srrdaa:
ASETIITHAET T ST Ffeq-

(A) 7 (B) 7=

(C) =fifer (D) &re
AT Fo T AR q IO - gegfenfaer-
(A) avfrazm (B) qETIErd
(C) Sam=Ra (D)farsrarerasy
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47.

48.

49.

50.

‘ST 9 F: T

(A) (B) #iy

(C) ¥1 (D) $iq

(A) SreTfiEaTTs: (B) v wg fraT reafa

(C) wpear =re: (D) srértaafa

T WFfa AFfaadd-

(A) wgTH (B) T

(C) ey (D) 79

FTeTGET F: AT -

(A) FTieraTa: (B) swasqfa:

(C) s (D) #gw:
X-X-X
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. The covariance is:

(A) A measure of the strength of relationship between two variables.
(B) Dependent on the units of measurement of the variables.

(C) An unstandardized version of the correlation coefficient.
(D) All of these.

. The power of MANOVA to detect an effect depends on:
(A) A combination of the correlation between independent and dependent variables.

(B) A combination of the correlation between independent variables and the effect
size to be detected.

(C) A combination of the correlation between dependent variables and the effect
size to be detected.
(D) None of these.

. Suppose you created a new measure of reading comprehension & you wanted to test its
validity. Therefore, you compare the results of your new measure to existing validated
measures of reading comprehension and find that your measure compares well with
these other measures. We could then say that your new measure has good .

(A) Concurrent validity.

(B) Criterion-related validity.

(C) Reliability.

(D) Content validity.

. Kaiser criterion for retaining factors is:

(A) Retain any factor with an eigenvalue greater than 1.

(B) Retain any factor with an eigenvalue greater than 0.3.

(C) Retain factors before the point of inflexion on a screen plot.
(D) Retain factors with communalities greater than 0.7.

. Rank correlation coefficient r = 0.8., > D2=33; Find * n’ .
(A)10
(B) 11
(C)12
(D)13

. When variances across independent groups are unequal, which of the following is not
an appropriate course of action.

(A) Use Games-Howell post hoc tests.
(B) Use Kruskal-Wallis test.

(C) Use Welch’s F-ratio.

(D) Use Friedman's ANOVA.



7. Which of the following is true?
(A) Longer scales tend to have higher internal reliability and lower reliability over
time.
(B) Longer scales tend to have lower internal reliability and lower reliability over
time.

(C) Shorter scales tend to have greater internal reliability but lower reliability over
time.

(D) Shorter scales tend to have lower internal reliability but higher reliability over
time.

8. The term 'data processing error' refers to:
(A) Activities or events related to the sampling process, e.g. non-response.
(B) Faulty techniques of coding and managing data.
(C) Problems with the implementation of the research process.
(D) The unavoidable discrepancy between the sample and the population.

9. Which of the following is not an advantage of content analysis?
(A) It allows us to observe otherwise inaccessible populations at first hand.
(B) It allows us to track changes in media representations over time.
(C) Itis a transparent and easily replicable technique.
(D) It is a non-reactive method.

10. The response set of "acquiescence" can be a problem in that:
(A) Respondents tend to give answers that they think are socially desirable.
(B) The structured interview is so conducive to reciprocity that male respondents
find it*hard to stop talking.
(C) Researchers who wear very strong perfume will distract their respondents.
(D) Some people consistently agree or disagree with a set of questions or items.

11. In the regression equation Y = 75.65 + 0.50X, the intercept is
(A)0.50
(B) 75.65
(C)1.00
(D) Indeterminable

Questions 12-13 are based on the following information and the assumptions of the
Classical Linear Regression Model are made:

A manager wants to predict the cost (Y) of travel for sales people based on the number of
days (X) spent on each sales trip. Using 22 observations the linear equation

Y =40 + 12X is fitted using Ordinary Least Squares (OLS) technique and the R2 value
is 0.5.

12. Which of the following statements is most likely to be accurate?
(A) Sum of all errors of regression, Zei = 100
(B) Zei = —100
(C) Zei =80
(D) Sum of all squared errors of regression, Zei 2= 100
(2)



13. Given that the Total Sum of Squares (SST) is 300, what is the value of an unbiased
estimator of 62, the variance of the random term?
(A)7.5
(B)75
(€) 150
(D)300

14. Write the formula for finding the sum of square of treatments in completely randomized
design. Which condition must be hold for applying multiple comparison tests?
" (A) Rejection of Alternative Hypothesis.
(B) Rejection of Null Hypothesis.
(C) Minimum Sum of Square Error.
(D) Maximum Mean Square Error.

15. If Pearson’s correlation coefficient between stress level and workload is .8, how much
variance in stress level is not accounted for by workload?
(A) 20%
(B) 2%
(C)36%
(D)8%

16. Rearrange the following steps
a. Find the mean of two series x and y.
b. Take deviation of the two series from their means.
¢. Square the deviations and get the total.
d. Multiply the deviations of x and y and get the total.
e. Substitute the values in the formula.

Options are as follows
(A) a,c,b,d, e
(B) a,b.c.d.e
(C) b,a,d,c,e
(D) b,a,c,d,e

17. What is the relationship between sample size and the standard error of the mean?
(A) The standard error decreases as the sample size decreases.
(B) The standard error is unaffected by the sample size.
(C) The standard error increases as the sample size increases.
(D) The standard error decreases as the sample size increases.

18. Let x be a binomial random variable with n = 25 and p = 0.6. Using the normal
distribution to approximate the binomial, determine the probability that more than 12
successes will occur.

(A) 0.1539
(B) 0.9192
(C) 0.8461
(D) 0.0808

()




19.

20.

2].

23

24.

For an exponential distribution with the parameter lambda equal to 10 per minute, what
is the mean of the exponential distribution?

(A) 0.17

(B) 0.1

(C) Cannot be determined from the given information

(D)0

A double-blind study is used to minimize the impact of;
(A) Experimenter bias

(B) Expectancy effects

(C) Neither A nor B

(D) Both A and B

Grounded theory is an approach to qualitative analysis. It involves which of the
following:

(A) Identifying significant childhood experiences.

(B) Identifying consistent categories or themes within the data.

(C) Identifying unconscious defence mechanisms.

(D) Identifying baseline measurements.

. Which of the following describes a meta-analysis?

(A) Analyse very large studies.

(B) Analysis of the methods of statistical analysis.

(C) Establish external validity.

(D) Detect trends across studies that may have used different procedures, numbers
of participants, types of control procedures, & different forms of measurement.

In an experiment, an effect size is:
(A) The success of experimental manipulation.

(B) An objective and standardised measure of the magnitude of the effect observed
in a study.

(C) Effective hypothesis testing.
(D) Measurement of how successfully you carried out the experiment.

A sign test is a:
(A) Parametric method for determining the differences between two populations
based on two matched samples.

(B) Nonparametric method for determining the differences between two or more
populations based on two or more matched samples.

(C) Nonparametric method for determining the differences between two
populations based on two matched samples,

(D) Parametric method for determining the differences between two populations
based on two matched samples.

“
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A researcher is looking at the effect of drinking alcohol on the ability to play darts. Half

of the participants drink a pint of beer, while the other half drink a pint of water. All

participants throw three darts at a dartboard and have the score recorded. How is this

experiment best summarised? Within Groups design: IV three dart score, DV

before/after training Between Groups design: IV three dart score, DV before/after

training Within Groups design: IV before/afier training, DV three dart score Between

Groups design: IV before/after training, DV three dart score.

(A) Within-groups design. Independent variable is the three dart score. Dependent
variable is the amount of alcohol drunk.

(B) Within-groups design. Independent variable is the amount of alcohol drunk.
Dependent variable is the three dart score.

(C) Between-groups design. Independent variable is the amount of alcohol drunk.
Dependent variable is the three dart score.

(D) Between-groups design. Independent variable is the three dart score. Dependent
variable is the amount of aleohol drunk.

26. Name a defense mechanism in which the ego defends itself against unconscious

27.

28.

29

impulses or qualities (both positive and negative) by denying their existence in
themselves by attributing them to others?

(A) Denial

(B) Projection

(C) Repression

(D) Sublimation

Phrenologists tried to find out about personality by:
(A) Reading a person’s horoscope

(B) Looking at a person’s hands

(C) Asking people questions

(D) Feeling a person’s skull

Glial cells are located in the nervous system and perform which of the following
functions?

(A) They are a type of parasite that live off of neurons and can cause substantial
damage to the brain.
(B)  They support, nourish, and protect neurons; they may also play a role in learning
and thinking.
(C) They break down dead neural pathways as part of the pruning process that takes
place in the brain when connections between synapses are not used.
(D) They work as a kind of sheath to improve the efficiency of electrical impulses.

Which is the smallest cranial nerve?
(A) Olfactory nerve (I)

(B) Oculomotor nerve (111)

(C) Trochlear nerve (IV)

(D) Abducent nerve (VI)

®)




30.
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32.

33.

34,

33,

Which of the following terms is used to describe the increase in 1Q scores over the past
century?

(A) Flynn effect

(B) Hawthorne effect

(C) Zeigamik effect

(D) Cattell-Horn-Carroll Theory

Children who have marked difficulties in social interaction and communication, desire
for routine and restricted interests are suffering from

(A) Alogia

(B) Autism

(C) Impulsivity

(D) Hyperactivity

You are asked by a close friend to outline a complete text to aid her studying for a final
exam. You refuse to help. Later, your friend asks if you would at least outline two
chapters. Feeling guilty. you now agree to help. Your behavior is predicted by the

(A) Foot-in-the-face technique

(B) High-ball effect

(C) Low-ball technique

(D) Door-in-the-face effect

The phrase ‘ultimate attribution error” refers to

(A) Attributing positive behaviour of people in a liked group to their inherent
goodness.

(B) Subconsciously attributing positive characteristics to a member of a disliked
group.

(C) Maintaining prejudice and finding ways to explain away positive behaviour by
a member of a disliked group.

(D) The last social misjudgement a person will ever make.

How social pressure may lead us to perform immoral acts is best illustrated by studies
of

(A) Psychological reactance
(B) Spontaneous self-concept
(C) Obedience to authority
(D) Informational influence

One’s preferred chair in a class is
(A) Primary territory

(B) Secondary territory

(C) Tertiary territory

(D) None of the above

(6)
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38.

39.

40.

41.

42.

In which of the following scales are all the three basic properties such as magnitude,
equal interval and absolute ratio incorporated?
(A) Nominal scale

(B) Ordinal scale
(C) Interval scale
(D) Ratio scale

Who is an important functionalistic psychologist was particularly interested in
consciousness, memory and emotions?
(A) John Dewey

(B) William James
(C) Thorndike
(D) Skinner

The first psychological laboratory was established in India at
(A) Delhi University

(B) Bombay University

(C) Calcutta University

(D) Banaras Hindu University

Fluid abilities such as short-term memory are
(A) More susceptible than crystallized abilities to cognitive decline.
(B) Less susceptible than crystallized abilities to cognitive decline.

(C) Equally susceptible to cognitive decline as crystallized abilities.
(D) None of these.

A person who is drunk may have difficulty walking in a straight line because the alcohol
has impacted his:

(A) Cerebellum

(B) Thalamus

(C) Reticular formation

(D) Amygdala

According to conditioning theory, Incubation is a phenomenon that should lead to:
(A) Distinction

(B) Extinction

(C) Annulation

(D) Conflagration

In Obsessive Compulsive Disorder (OCD) compulsions are generally thought to be

which of the following:

(A) Repetitive or ritualized behaviour patterns that the individual feels driven to
perform in order to prevent some negative outcome happening.

(B) Repetitive thoughts about harming or distressing others.

(C) Overwhelming desires to behave in an inappropriate fashion.

(D) Ritualised worrying about negative outcome of events.
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44,

45.

46.

47.

48.

Who first attempted to describe personality traits in terms of Lexican descriptors?
(A) Ross Stagner

(B) Allport and Odbert

(C) R.B. Cattell

(D) Coasta and McCrae

Which of the following sequences best describes the deductive logic of inquiry?
(A) Theory -— data — hypothesis

(B) Data — theory — hypothesis

(C) Data — empirical pattern — theory

(D) Theory — hypothesis — data

Which of the following statements would be in agreement with Sternberg and his

triarchic theory of intelligence?

(A) Intelligences are fixed capabilities that cannot be diminished or increased by
environmental conditions.

(B) Intelligences are based in biology but can be more or less cultivated by an
individual’s environment.

(C) Intelligences are innate characteristics based totally on an individual’s genetic
makeup.

(D) Intelligences are the set of abilities needed to attain success in life; however,
individuals define success in their sociocultural context.

“Why do things look the way thcy do”? This question was asked by the Gestalt
Psychologist:

(A) K. Koffka

(B) W. G. Kohler
(C) M. Wertheimer
(D) Kurt Lewin

John has difficulty distinguishing between central information and peripheral details.
This is an example of the stage of expertise:

(A) Acclimation

(B) Retrieval

(C) Encoded

(D) Metacognitive

Gibson claims that what we perceive are:
(A) Probabilities

(B) Affordances

(C) Choices

(D) Gestalts

(8)



49. Kohlberg and Gilligan have proposed theories of moral development. Kohlberg's
focuses on ; Gilligan's focuses on

(A) Justice; care

(B) Care; justice

(C) Rightness; wrongness

(D) Relationships; abstract reasoning

50. When a child repeatedly taps the stuffed toy in her bed to make it play music, the child
has reached which substage of the sensorimotor period?
(A) Reflex modification

(B) Primary circular reactions

(C) Secondary circular reactions
(D) Tertiary circular reactions

X-X-X
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